- B

EXAM PAPERS PRACTICE

AS LEVEL SPECIFICATION
FURTHER MATHEMATICS A
MARK SCHEME 2



1)
wpg(e0 = T
r')ﬂg(é“; - :
i) = R —ﬁBI,
12 §if

h 2
Y
, = (14383) +2¢

50|2,4%
5 [ita8y+2*
J28+6v3 44 h

= |324603
Al



2) o) det = 1|63 - 524 #plbal

:l~5?_ M -
50 ivekhle for ol pelR ad for 97 5 .
Al Al
b M:(J, ; ’f,)
o o0 |
M.norg = W“" ’:’lq“ I;él
X/ R I
HAN ISARN T

M o oS 26 = os -1 Al
0[) <o scale faclor = Z'L(i: § = 1"5 =6 = 9=-1

S g g
225
oo |12 b
= 8-2012=8 M

= vo’e‘-lo A‘



h
5,4
3) G) &%— £ SS;nL\ch *'SCoSL\Zx "ZQMZX =0 M|
= SwSIAZ;c =24 S:'Al\27¢50
S
= {"Onl\Zx z 24 M)

':‘32x= liln(',i—‘

k]

W
g
Sl ™

4-_)_)5'.’["/\(,___) Al

b) 053(11 - 10sh2x - 48upshx

3 5(ezxve’23°) _ 24/6217‘6'21) M

= 19eP qu-z * 20 for q” X, So Maxmum /’ijj ,oo,'n}‘
Al



| - 2x 1-2x _ AxxB  CxP
. (€ ~1)?

= V2% = (Ibc«tl.’:)()cﬂ)1 + {(S’C’rD)JLZ Ml

= (1-2x) = (A +B)0-25¢ 1) +(GerP)x
Z x*(Atq) +3¢(-2A +R D) +3x(A-1B)4 B

= B=|
A-28 = 2
= A= 0

~ZA B tD~0
= D':___]

Arc=p AD

’;5(/;0




NI 7e.0%%

(,) 25nt M1 bor k=5
n*-25 7 0 .9B8n°
0 025"1 >5 i

nt > 000
N> 3.6

S0 n¢32 ﬂ'\



5) ¢) r-e ¢

(() X = (05®

WOOSQGJG mi
_(ig_t " e’o(-'wSQ '5)':/)9) =0 Ml
de

= -(ps© =SNG

= tng="1=>0= %32) 7% Al

s (o 0948 3“’3) neh (o.ooéloje%;"’/ﬂ A



|
D EITE
3 |
)
50\):/,-‘[,7@‘2)145 Ml
0

3
=T [ald'cx\(lj-"l)‘k " M]

= (O(Cb/\_l - Orcfb&-‘l))
B S,qlté A

S

,, I HS—Z)“

= I
56 gceq = j—/"—" M\

J HS—’ZF j

(o)

e [O‘FS:AL\ (5 ’2)]10

= Orginhl - Ors}n\r\( 2) mi

= In(1+02) - mslde o(-2 15)
e ln(lw—z) Al

-2H5



121 =12-3-(] s te Ferf)w;l/c:»]oi o( 0 od A.
ABOF s a FOJ‘QHC'Oﬂ am $ H'HS 5 [ne 8F /V”

7 /ﬂ,e avea of e wohole Aexagon s
w5 %2 xsing
S Al
The grea of fifongle ABF &
’Exzzx S)'o(%r> MI
=3 Al
S0 fle ora of tlo fosger region 15 SY3 M

o de cabo s ST, A



Doz = [ndlm) cosg

=3 -15 - 24 +zcmmws@ M)

=S w0 ~ 57 M)
Jez J2q

-0~ 150.8°
50 acu*emgl{ 5 29.2° Al

b) Lre I ),ofL Pfont’s s f"’f"’d"@[or b 7, 0"01"3

= loctiypak MA

S0 f = C_o +>\())36).

(o]

0

ID/CZ"/B {9,3,) (b = / %) | ono( Su‘sf#u/i/\j Jato f, (210/ 771)

63 +2°-5
rby t2z2=-24 ]
. 5=~€) 22794 -
S0 r = ('06) +'>\(1'§) A)
oy 2
&) IRV = U6AY + g 1130) 4 (442’

= 25607 +163)%- Zog\ 64 F4X2 -16)\ 414
= 472 -224% +80 M)
5’; - 858\ "224=0 M)

. 224 . 112 )
=D ARt o /






q'O‘) m*tbm 49 =0
= (m13)" =0 M
= x= (ABHR™ A

'}IADF X%zc'3+ M)
x o ¥ (20 -3 M
e, (2 )

;3% P (23— 62k -6xE+ )
e (O -k 42)) Ml

-3¢ v
So & ~1Mt 422 e M (-3 Ap) 1

= ((AN-18XFAN) HE(A2N+12)) 4 2N = -9
= \=-2 Al

-3k 3t A)

So >c=(A+1Blle -Zéz@

b) 1(0)=5/3 ’—'-ﬁA¢05{3 A[
ox e (B-4t 34 -38H+ ) M
50 5((0)50 = B-3p=0
= BES

SOV 1D 507 HOVAY R
S0 5¢ =€ (B-1%) =0 m)
19
=t%0, 7.

50 e:f,g. A



b ﬁ

1 -3{'
Jim f e—zk [% t 5&—24-1] dt T mi
i 0 u’ 64t vy -'3-6’3"

"'Jl;“”w[( 52t Ja (L ﬁwxg(s— “(rhe>) Jh 1)

— -
=54 Im (-8 3*] ﬂz} k w -4 0 e’
! e //)M ’B}J‘}— u A v —f(()‘eﬂg‘}
M) g o0 0 M
5\ _ R
5"'..”";'/\/){7& o om)
T A e 0
=S .5k
" T =
)



